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Slmanggl ellenmss@Enn sflwrs udleurd o 6reTgsT eramUSEMET FiHlLIMTESS
Qamretera|b. SF&HLILSeND GapulmLider ojemn semsmeantliLimerflLb
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Beod g s®mUY owuloear LLHCL  TWHUSHGD
93 &5CaTIE(HaugnGL Lwearl(F s Couam(Hb. LILBISGE alaFelsDE
Quendled LweT(h&SaLd.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@&3| - 1/PART -1

Siemensg| AlaTEsEhsEGn allen_Wetl&saL. 15x1=15

Qarh&suul(heTeT mrem@ WwrHm el gafle WEeab e

lenLenwis CabOsHSEIS GMUIL(HLer allenL ulemerb Carég) er(pHeyLb.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1.  Seuliugnssemer Bréss Celiuyb $reu :
(=1) Capwibev Slyeuld (=) Li&ev Flreud
(@) ooGumaler oolemmed $lreuld (/) Lmievmen dlyeuld
Diluting fluid used for total RBC count is :
(a) Hayem’s solution (b) Turk’s solution

(c)  Folin Phenol reagent (d) Toisson solution

2. Apbre mean@posaion B ler o MlereliLBsansE 2 sajb apriGre :
(1) arigen il g8 aprrComesr
(<=1) CamedlHlevGLmend el e
(@) urerdlflGumrenaLdleo
(FF) = erslCurQLenler II
The hormone which helps in the reabsorption of water in kidney tubules is :
(a) antidiuretic hormone
(b)  cholecystokinin
(©) pancreozymin

(d) angiotensin II

3.  @sw Qu&ss spnsluder srew eTe :
(<=1) 0.5 &Slermigser (<=4) 0.6 eSlermig Hei
(@) 0.7 eSermigser (FF) 0.8 ellermig&err
Duration of the Cardiac Cycle :
(@) 0.5 seconds (b) 0.6 seconds

(c) 0.7 seconds (d) 0.8 seconds
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CrrigssenL sariLLer CQsriryenluw &yl erg ?

(1) evgev &l (<) Yalwe &
(@) umprengrmih &riid (FF) it flemed &yl
Which of the following gland is related with immunity ?

(a) thymus gland (b) pineal gland

(c) parathyroid gland (d) adrenal gland

sTSQIeTer TLLGS A(WSS mavsamerd CFuablene WeTar(pssors wrHnidng ?
(1) Beraul Lt ueganfl (oval window)

(<) QeailliLenn Feuay

(@) SmTeulLd GLPESET

(FF) &Il enl 2 miiLy

Which structure in the ear converts pressure waves to action potentials ?

(a) Oval window

(b) Tympanic membrane

(c) Semicircular canal

(d) Organ of Corti

ST LI @QFem LpSHEWL LGl

(S1) semISHTEOlSHET (=),) UETSSHMEL L|(LD&SET
(@) eYyLaser () L Gsredlser
Metameric segmentation is the main feature of :

(@) Arthropoda (b) Annelida

() Coelenterata (d) Echinodermata
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7. SaUMEEMSS sL_(HUU(hSGHeUG !
(1) Slmiepener (<) Hupapener
(&) wmramah (7r)  p@erd
Breathing is controlled by :
(a) Cerebellum (b) Cerebrum

(c) Pons (d) Medulla oblongata

8. @swsde ‘LT @6l @same gHuBhFHmg.
(SN) ADTEFHIT UTOGSHET eLp(HEUSTED
(=) % MN&EGor - Heuar_M&@GemT aurera]seT eLp(heugmeD
(@) <MsEGor - Qeuer_M&@aorT aurdeyser HmLiLgme
(FF) Ar&FBIT euTera]HeT SHmLILIGTED
Dub sound of heart is caused by :
(a) closure of semi-lunar valves
(b) closure of atrio-ventricular valves
(c) opening of atrio-ventricular valves

(d) opening of semi-lunar valves

9. el Hpps cuams FHCOHTLL W e Srewrliuhdlermen ?
(1) Yo (=) souanar
(@) srlumery,&sl (FF) oewTL|(Lp
Which of the following have an open circulatory system ?
(a) Pigeon (b) Frog

() Cockroach (d) Earthworm




10.

11.

12.

>

@rssb Qgrrurer Crrilsamerd samLmlub wmsgiels gennuder e Wfley
(=) B&S Quicd (<) Gamwl LT

(@) fmfrseiwed (r) SHaafwed

The branch of medicine concerned with the study of diseases related to blood :

(a) Toxicology (b) Haematology

(c)  Nephrology (d) Histology

erenriq CrrensGenen ergener wrhmeldle LRGCEHIDS ?
(=) yrsmgeerl umelClulienL(h&errs omhmigedled
(<) QuiieliGeanreyenar CluliedlenTs wrHmigeadle

(@) srflCarmmener &rélents LOMmHMIS6l6

() 19fuediGeanregenan g flliedlenms wrmHmigeadle
Enterokinase takes part in the conversion of :

(a) Protein into polypeptide

(b) Pepsinogen into pepsin

() Caseinogen into casein

(d) Trypsinogen into trypsin

LOQIUITE SETentd 6Temm LSSmSE @l g el wimi ?

(1) SiflevL_rmiged (=) eureLim Crmeve
(@) er.19.14. srewrGLimed () er.g. LmemenGev
Who coined the term biodiversity ?

(a) Aristotle (b) Walter Rosen

(c) AP de Candole (d) AG Tansley
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13. Gnhs Guhamsseaile o Lo BH&SD gHUBSSTLO Ceulin 2 HusSd CFlg = L e
Geutinib FlsMiLg ergen epeoid ?

(1) wEpFeT CamupLiL (=) Qeudreners GlampLiLy
(@) Bpwon Cempriy (/) wuys Aasmuply
Non-shivering thermogenesis in neonates produces heat through :
(a) Yellow fat (b)  White fat

(c) Colourless fat (d) Brown fat

14. ss§ smSsSSHDaTar ATP Cuev Qprsl o drer @)L Ib
(1) ewCursler (<=)) <=45lgafler
(@) <=6 (rr) LCrmiuCumefler
ATPase enzyme needed for muscle contraction is located in :
(a) myosin (b) actinin

(c) actin (d) troponin

15. @bSlureler Lpenaluduie) eueEIBT WmT ?
(=) sCrmaven dlerCerion (<) Fmirevev Lmredleor
(@) <iflavLrmiged (FF) Lm&LIT F60D <2460l
Who was the ornithologist of India ?

(a) Carl Linnaeus (b) Charles Darwin

(c) Aristotle (d) Dr. Salim Ali




U@&S - 11/ PART - II

GO : eTemeuCuenid ymi NaTésErsE LG el wealssa)h. ellerm ereamr

24 -5@ sL_Lnuwnrs el weflésa] .

Note : Answer any six questions. Question No. 24 is Compulsory.

16.

17.

18.

19.

20.

21.

Snmlens Carlumriged Frieoev Lmrielefler Lumkig wrg ?

What is the role of Charles Darwin in relation to concept of species ?

epiq Ll HMID FHMBS euand QIS @l L amsasd likb(hs.

Compare closed and opened circulatory system.

6x2=12

fo cuens eridellwmser QumiwBsHeanmd <y amenel. @QGem CLUMHeT cremem ?

Some epithelia are pseudostratified. What does this mean ?

e SLenL_LIL|(p&E&ET 2 L DGPlmmenal eTem enpdssliuhdlearmer ?

Why flatworms are called acoelomates ?

wewrLpadenr CuflevCGLmwibd wHmid HCrrevGLrdlwsems GCoumiihsss.

Differentiate between Peristomium and Prostomium in Earthworm.

QUTSSlGT S6tLILIGRTL|SEN6T 6T (LS.

Write the peculiar characters of duck.
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22, v ggevCariber Lwengsamer cuflensliL(hSgis.

Enumerate the uses of Stethoscope.

23. waigfler sriaflwr wrom Hdsems Aurgeurs Hlirrsfssliinheudoeama. erem ?

Cornea transplant in humans is almost never rejected. State the reason.

24. AL Bhed 2 drer Qprdaer wreane ?

What are the enzymes in intestinal juice ?

L& - 111/ PART - III

@MY : eTemeuCGuenid M faTésErsE LB el welsseb. afearm eremr
33 -&@ sL_Lmuwnrs el wefléEse]b. 6x3=18

Note : Answer any six questions. Question No. 33 is Compulsory.

25. GarGeum s(pend o6 L (WS SN 2 ML IISTE 2 6Teng) ?

Why mule is sterile in nature ?

26. &0IDI9G WERTL WD e 2 anti&S elpener erarliLihEmg) ?

Why the limbic system is called the emotional brain ?

27. wafls Anprasder BarCoul hg CamHmFens LILD uarhg LITED GHlésaLb.

Draw a neat labelled diagram of the L.S. of human Kidney.




28.

29.

30.

31.

32.

33.

?

Cewpens wpenm BT L SHlem LILIenseT wrenel ?

What are the advantages of artificial insemination ?

QeueTenem jiqLIGUTeL FleFenes LU SqliGuren Slaelladmbg GoumiLihsIs.

Differentiate white adipose tissue from brown adipose tissue.

geueneTuiler QUTBETTSTT (PESHWSFHIQILD CLPETEND 6T(LHSIS.

Write any three economic importance of frog.

oHm Hlpaim smelsamer adlL CT ereuaigd Guowubhdng ?

What are the advantages of CT over other imaging techniques ?

Seflwed &rid e prerblloers &rid - @ser Lienfl UHM 6r(HSis.

Pineal gland is an endocrine gland, write its role.

anmOGL 6T 64leneTe] GTETMTE) GTGITET ?

What is Haldane effect ?
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@3 - IV/ PART - IV
GO : Semesisgl Nanmss@rsEn alenwafldsea]b. 5x5=25

Note : Answer all the questions.

34. () swasd FM&GHSIHDaETar FN&GE Qs Carlurl el alaréEs.
S|6V60F)
(=) m@Lde o area| Caflsgame allouflssald.
(a) Explain the sliding filament theory of muscle contraction.
OR

(b) Describe in detail, the process of digestion in the small intestine.

35. () Car@d ojenamedlmelilenr CLMgLILIGRTLSMmET 6T(LpS)s.
S|6V60F)
(<) @ Mamedler ammrGomen Lientlsamer edleumdEsea]Lb.
(a) Write down the general characteristics of the Phylum Annelida.
OR

(b) Comment on the functions of adrenalin.

36. () &eurgd el Clumib wpevmen efleufl&seyb.
S|6V60F)
(=) samantlen eaflallogse GampUThaamer afleuflEsa]wb.
(a) Describe the mechanism of breathing.
OR

(b) Explain the Refractive errors of eye.
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37. (&) uluyueder aurpsanss spnflew alleuflsEsea|m.
S|6V60G)
(<) orbCGLr wrileuler sfley Hés LT 0S5ms 6laTsEs.
(a) Explain the life cycle of Bombyx Mori.
OR

(b) Explain the excretory system of Lampito Mauritii.

38. (&) @résligds swrmsgh eudpernsamer alleuflgEse]m.
LMV ]

(=) @swsgglil] Corearmed LHMD SLHUURSSHSO Bl GUmD penmen
deuf&sab.

(a) Describe the method of blood smear preparation.

OR

(b)  Describe the mechanism by which the human heart beat is initiated and controlled.
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